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Q.NO. VALUE POINTS MARK 

1 C) Culturable waste land 1 

2 In Punjab: Fertile soil, availability of water, favourable climate (Any 2 points=1 mark) 1 

3. Ans: C-Income 1 

4. Ans: D Government or society has not provided adequate facilities for high school 

education 

1 

5.  Ans:  B] Both of them dealt with the question of power-sharing similarly 1 

6.  Ans: Division of powers between higher and lower levels of government 1 

7.  Ans: 

1] In France the year 1848 was a year of hunger and hardship. Food shortages and 

widespread unemployment brought the population of Paris out on the roads. Barricades 

were erected and Louis Philippe was forced to flee [1 mark] 

2] National Assembly proclaimed a Republic, granted suffrage to all adult males above 21, 

and guaranteed the right to work. National workshops to provide employment were set up. 

[1 mark] 

2 

8. Ans: 

1] Russia, Prussia and Austria [1 mark] 

2] Even though Poland no longer existed as an independent territory, national feelings were 

kept alive through music and language. Karol Kurpinski, for example, celebrated the 

national struggle through his operas and music, turning folk dances like the polonaise and 

mazurka into nationalist symbols. [2 marks] 

3 

9. Ans: 

1] What form of power sharing did Lebanon adopt to settle the civil war? [ 1 mark] 

Ans: Sharing the power among different communities  

2] Describe the power sharing arrangement done in Lebanon  [ 2 Marks] 

ANS:  Lebanon’s leaders came together and agreed to some basic rules for power sharing 

among different communities. As per these rules, the country’s President must belong to the 

Maronite sect of Catholic Christians. The Prime Minister must be from the Sunni Muslim 

community. The post of Deputy Prime Minister is fixed for Orthodox Christian sect and 

that of the Speaker for Shi’a Muslims. 

3 



10.  Ans: 

This is because resources that are important for development are limited and cannot be 

renewed. [1 mark] 

The present trend of exploration of resources may not sustain development in future   

[1 Mark]  

Again the environmental impact of exploitation of non-renewable resources is not limited to 

a region. So development may not be sustainable if we don’t plan for sustainable and 

ecofriendly development.  [ 1 mark ] 

3 

11. A) Any two minerals found: calcium carbonate, magnesium, potash and lime, 
(Any two=1 mark) 

B) Any two areas where black soils found: They cover the plateaus of 
Maharashtra, Saurashtra, Malwa, Madhya Pradesh and Chhattisgarh and 
extend in the south east direction along the Godavari and the Krishna 
valleys.  (any 2 areas=2 marks) 

C) Materials made up of: made up of extremely fine i.e. clayey material. 

3 
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